Straight Line Graphs.

      20
Draw the lines: 
1)
y = 3x + 5



       

2) y = 2x – 3

3) y = 1x + 6




4)
y = 2x + 5



        0

5)
y = 10 – 2x





        5

                 -5

All of the lines can be drawn on the same axes. 

X goes from 0 to 5 and Y goes from –5 to 20  
[See diagram above]

6)
Explain what the number in front of the x means.

7) Explain what the + or – number at the end means.

8) What does the –2 mean in the graph y = 10 – 2x in Q5?

The following table gives the position in the league of 6 of the teams in the premiership and the number of points they have.

	Position
	Points
	
	Position
	Points

	1
	25
	
	16
	9

	8
	17
	
	19
	7

	11
	15
	
	20
	4


9)
Draw a scatter graph and the line of best fit.  

10)
Find the equation of the line of best fit and then using this equation predict how many points the teams in 5th and 13th have.

11) Find the equation of the lines joining the following pairs of points:

a) (2,1) and  (4,7)

b) (1,6) and  (5,14)

c) (1,5) and  (3,13)

12) Draw a pair of axes but do not number the axes.

Sketch the approximate positions of the following lines:

a) y = 2x + 5

b) y = 4x + 5

c) y = 2x + 1

d) y = 4x – 4

e) y = -2x + 1

f) y = 5 – x
Linear Graphs
Plot these four graphs by drawing a table of values 

from -3 to 3 as shown in Question 1:-

	x
	-3
	-2
	-1
	0
	1
	2
	3

	y
	
	
	
	
	
	
	


1
y = 2x +2 

2
y = x – 1 

3
y = 3x – 5 

4
y = -2x + 4

Plot these four graphs without using a table of values:-

5
y = 2x + 1

6
y = 3x – 4 

7
y = x + 2

8
y = -2x + 2

Linear Graphs

Plot these four graphs by drawing a table of values 

from -3 to 3 as shown in Question 1:-

	x
	-3
	-2
	-1
	0
	1
	2
	3

	y
	-4
	-2
	0
	2
	4
	6
	8


1
y = 2x +2 

	x
	-3
	-2
	-1
	0
	1
	2
	3

	y
	-4
	-3
	-2
	-1
	0
	1
	2


2
y = x – 1          

	x
	-3
	-2
	-1
	0
	1
	2
	3

	y
	-14
	-11
	-8
	-5
	-2
	1
	4


3
y = 3x – 5 

	x
	-3
	-2
	-1
	0
	1
	2
	3

	y
	10
	8
	6
	4
	2
	0
	-2


4
y = -2x + 4

Plot these four graphs without using a table of values:-

5
y = 2x + 1

6
y = 3x – 4 

7
y = x + 2

8
y = -2x + 2
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